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Management Accounting
(Revised Edition)

R, Shabahang, Ph.D

Centre for Professional Accounting & Auditing Studles
Audit Organization

ol gl S Sl 4 g § U ghone S g 4"
www.Audit.org.ir

o 2l 95 Il  LaaSS
oyl Ol




Jd!
sl ol




Jol Ja2




s9ets 3 BT Slowas 3561 o Sledbl )l EaLS soliiwl 4 oS




Ssle gy OB eSS eolanl
GSLo)‘L...; 09,0 Qlf.p.d“ ool s

‘ @LALM: 95 BosS oolasul Ludg.auLC)LL:‘AS L.le.w} ‘u-u.?U ‘—
ey ow;ombgu@mmuu@;ﬁ\p
Iy Slesle g0 ¢ KAJOOM‘@OjAULCNb‘J&‘&L»}‘M |-
0% 4(& ﬁl.awyd.oéj‘iuowl.utso’:;‘ﬁ




SHHFS Dl s
QS;LQ‘-? CA..’@) 3

d.:du;).:‘ M&bd)ﬁ)‘bﬁﬁd‘bd—&?‘&ﬁ)ﬁh&ﬁ@b LoL.u
éSg.Acbu.:).:d..o u.».ﬂ.».féob w).:;).,o).».‘a.:l.a:dog) ua‘ ‘L.S"J"
Solules jo a5 vl o Cdlas sl » Sb anie 9 b (s09>g0

35S o5l oy p g o 050 Lo e

10



h L] L L] L L] L L] L L] L L] L L] L L] L L] L L] L L] L L] L L] L L] J

6)9139-“’

A.JZ:)

Slo laSoy>

ol plos sl (39,5 Jloo
b g

OY gz CoalS

Gy danzee slo Eodgine
Ll Gleas

e

%

e

*

e

*

e

*

e

*

S

*

e

*

e

*

11



e

%

Sy 4l y

J=s

e

%

e

*

e

*

4

o0

Management <
includes planning, organizing, staffing, leading or
directing, and controlling an organization to accomplish

the goal or target
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DECISION-MAKING MODEL

Using & step-by-step dechiion-meking
process he'ps us to make more
delibacste, thoughtful decitions by
organizing relevent informstion and
Ualining alternatives, This spprosch
onabiles us to better insure the chances
of choosing the most satisfying
alterrative possidie.

The declsion-making process Is broken
into the following steps:

Review ths Dacision
Take Action
\
Ch
0038 From A"‘"‘mvoz 5

Waigh the Evidence
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Fixed costs are expenses that have to be paid by a company, independent of any
business activity. It is one of the two components of the total cost of a good or
service, along with variable cost.

BREAKING DOWN 'FIXED COST'

An example of a fixed cost would be a company's lease on a building. If a company
has to pay $10,000 each month to cover the cost of the lease but does not
manufacture anything during the month, the lease payment is still due in full.

In economics, a business can achieve economies of scale when it produces enough
goods to spread fixed costs. For example, the $100,000 lease spread out over
100,000 widgets means that each widget carries with it S1 in fixed costs. If the

company produces 200,000 widgets, the fixed cost per unit drops to 50 cents.
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A corporate expense that varies with production
output.

Variable costs are those costs that vary depending on a
company's production volume; they rise as production
increases and fall as production decreases.

Variable costs differ from fixed costs such as rent,
advertising, insurance and office supplies, which tend
to remain the same regardless of production output.

Fixed costs and variable costs comprise total cost.
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Variable costs can include direct material costs or direct
labor costs necessary to complete a certain project.

For example, a company may have variable costs
associated with the packaging of one of its products. As
the company moves more of this product, the costs for
packaging will increase. Conversely, when fewer of
these products are sold the costs for packaging will

consequently decrease.

37



Slaize lae 5l a8 it s &)50 ool plod slor jusie pMB mox jlog0s
el oo Eled

(cud) axly S oad ples (slos U

y = bx

38



Aol b8 oq,:iﬁw Sl Glaie oo plad sl jxie 2Bl @4 0 lan am o

S5 el Gl Gl 8590 50 Ales o o 1 09l o DUl 15 (635
Aiacs S BB Tlegyd oI ol sl Lol aisles

: aoole
oolatul 8,50 (sudgs Slipmd (5,105 Gl p a5 A5 )15 Slogile B pas e
3S oo Ghegs a5 haw i b9 0,8 e I3

39



9 45520 yehate 4y g Wil Gl WS 6o Ll slo ol )5 aS 0gl o Bl DB
g (oo e et 3 Sl syl 4y Slopass oo

W ‘nLoS sl Ll 'a)b‘ = 0dl plad gloo <ol ‘n)lﬁ‘ + ol ﬁl.os Sl s ﬁ)’lﬁﬂ
Y = a + bx

40




<

Jb) e ol pled sl Lalises r:)lsl@a-
Q

N

s oo plod gles Wik Y6 !
|

oo pled (glos ol DI

N

ks oy el mhas X

41



The term mixed costs often refers to the behavior of
costs and expenses. Mixed costs consist of a fixed component and a
variable component.

The annual expense of operating an automobile is a mixed cost.
Some of the expenses are fixed, because they do not change in total
as the number of annual miles change. Think insurance, parking
fees, and some depreciation. Other expenses are variable, because
they will increase for the year when the miles driven increase (and
will decrease when the miles driven decrease). Think gas, oil, tires,
and some depreciation.



The algebraic formula for a mixed cost is y = a + bx, where y is the
total cost, a is the fixed cost per period, b is the variable rate per
unit of activity, and x is the number of units of activity. For the
annual expense of operating an automobile, the fixed cost, a, might
be $5,000 per year; the variable rate, b, could be $0.20; and the
number of units of activity, x, might be 15,000 miles per year. With
these hypothetical assumptions, the annual expense,y, would be
$8,000. If x were 10,000 miles, the annual expense y would be
$7,000.
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An estimation of the revenue and expenses over a specified future
period of time. A budget can be made for a person, family, group of
people, business, government, country, multinational organization
or just about anything else that makes and spends money. A

budget is a microeconomic concept that shows the tradeoff made
when one good is exchanged for another.
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